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General Knowledge

is NOT appainted by the President Ql
of India?

(A} A Judge of a High Count

{B) The Advocate-Genceral

(C) The Governor

(D) The Attarnev-General

Mame the first Indian state where every Q2
household has at least one member having a
bank account.
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(C) wreaTd
(D) TETaTTard
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{A) Maharashira HEWIE

(B) Harvana (B) sfemmom

(C) Himachal Pradesh (C) o wiw

(D) Kerala (D) & 1

Select the duct which takes the urine out Q3 = T T T el A W

from the urinary bladder to the outside of wire & e ®@ e #

the body, A) TERT

(A) Urethea

(B} Ureter (L] =5

{C) Bladder (D) a1 afeaw

(D) Renal pelvis Jﬂb“ya.ln

National Education Day is celebrated on Q4 st fen Ruw v oAl =
EVETY YEAT, 1 AAEm T B

(A} 2Tth Octaber (A) 27 Y

(R} dth March (B) & HH

(C) 17th September

(D) 11th November

The GST Act was enncted by Parliament vide Q5
the  Constimtional Amendment Act,
2016 on 8th September 2016,

(A} 97th

(B) 84th

{C) 1lst

(D) 114th

Which of the following districts belongs to 06
the Bundelkhand region of Liar Pradesh?

(A) Fatehpur

(B} Jau : :

b sobriya.in

(D) Shravasti
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The area of Uiar Pradesh is approximately
of the tstal area of the country,

(A} 135 %

(Y BAgne

(Ch B A%

(D) 7 3%

Draring the sixth century BC. the aren around
RAnthues wos knivan as

(A} Pancha!

Ay Ang

(" hyreen

i1y hiqlq‘l"'l-

Which remantic-poetry writer was well
kevm fior his work entitled “Madnastal ™
{A) Hahim
(RY Manlik Mohmmad lais
(2 Fin-ud-din Barmg
(1% Sulinn Firog Tughlag

Jobr
Whn was the editor of 1 'nar Pradesh’s first
daily newspaper “Hindustan”™ publishad in
1EBTT
{A) Mahabir Prasad Divedi
{B) Padumlal Punnalal Bakshi
(C) Madan Mochan Malviva
([} Bhartendu Harish Chandra

In which year was it made legalls binding to
use Hindi in all official works in Uttar
Pradesh?
(A) 1947
(BY 1957
(C) 1963
(DY 1977

Which of the following was a major painter
at Akbar's courl?

(A} MirMusavvir

iB) Dost Muhammad

(C) Daswanth

(D) MirSyvad Ali
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__ was & prominent musicians of
Faizabad who developed the Tappa style in
elassical music.

(A1 Mustaribai

(B) Khushi Maharaj

(C) Mehndi Khan

(13} Thekur Prazad

Which of the following is a popular folk song
ol Bundelkhand?

(A} Birha

iB) Alha

() Rasia

(D) Languria

Which of the following rivers jons the
Kamali river ar Brzhmaghat in India and form
the Ghaghara river”

(A) Rapti

(B) Gandak

(C} Sharda

(£ Sarayu
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Which of the fellowing minerals is also
known as “Yellow Cake™

(A) Plutonium

{B) Uranium

{C}) Thorium

(D Adumirum

Which of the following celebrities received
India’s second highest civilizn award in 20187
(A) Ghulam Mustata Khan

{B) Sharda Sinha

(C) MS Dhoni

(D) Pankaj Advani

Whao was recently appointed as the first
Director-General of the National Testing
Agency{MTAY!

(A) Rajesh Kumar Chaturvedi

(R} "Joseph Emmanuel

{C) Anita Karwal

() Vineet Joshi
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The G20 Summitwillbeheldat  in Q19 G20 # Ja@m 2008 A . Gl
2018, T EELT ’
{A) Riode Janeiro (B) &A4 Hd

{B) Buenos Aires {C) #iRrR Rt

{C) Mexico City (D) Feaiga

{13} Istanbul

In 1825, who founded the Vedanta College Q20 1mes ¥ dgiar FiEe B wwr e @
in which courses both in Indian learning and foreml ST Wl sreams afty arrame
in Western social and physical sciences were Hrfors e sifot R oomes w6
offered? farm T e

(A} Aurchindo Ghosh (A) amfda) o

(B) Ram Mohan Roy MEEEEI

{C) Ishwarchandra Vidyasagar (C) gravds BT

(D) Swami Vivekanand (D) = foarEe

Which of the following country is known as Q21 P A 9 v <o @ ywd oE e o
Ceylon in Past? e

{A) Maldives A) HIETSE

{B) SriLanka ||[]3]| AT

(C) Mauritius (C) Hitea

(D) Suriname (D) T

India’s distance from Europe mﬁ@l@l‘l}#%‘! [ -G G, e & e NG o
7.000 km by the opening of canal in gom o g 7000 frenies @ 8 TH
1869, (A) T

{A) Panama (B) #a

(B) Kiel

{C) Suez (D) AI=n-2F

(D) Volga-Don

Who was one of the chief guests ofthe 2018 Q; i fRaE 2018 9 TS @ gom sl
Republic Day parade? i # o g Ay e Oy

{A) Bidhya Devi Bhanderi (A) Taem ot wamh

{B) Maithripala Sirisena (B) e i

(C) Sheikh Hasina (C) Fra Ewr

(D} Aung San Suu Kyi Fp} =1 A g =

Which of the following e-commerce
companics has signed a pact with
Government of Uttar Pradesh for the sale of
Khadi Products?

{A} Flipkar

(B) Snapdeal

{C) Amazon India

(D) Paytm
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Which of the following was u scientist as well
as a greal industrialist whe founded many
industries in India?

(A) CV Raman

(B) JC Bose

{C) Vikram Sarabhai

(D) Hami Jehangi Bhabha

Whao is the author of the book *A Better
India: A Better World™?

{A) Kiran Bedi

{B) NR Naravana Murthy

(C) Sudha Murthy

(1) Shashi Tharoor

Who among the following plavers. was N/
involved in the ball-tampering issue of the
receni South Africa-Australia Test Scries in
20018

(A} David Warner

(B} Steve Smith

{CY Tim Paine

() Cameron Bancrofl

The boiling pomt of water in Falronben 5
(A) 100°F
(B) 212°F
(Cy 150°F
(D) 244°F

Which of these ts NOT a plantation crop?
(A} Coffes

(B} Tea

() Cashow

(D) Millers

By which other name is the pulse ‘e’ also
known as?

{A) Arhar

(B) Jowar

(C) Masoor

(D) Rag
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136

Adan s used to measure the force
and veloeity of wind.

{A) specdometer

(B} lactometer

(C) thermometer

() anemomelsr

When is National Hindi Day observed in
India?

(A) 14" September

(B} 14* November

(C) 14" December

(D) 14" June

Article 6 of The Universal Declaration of

Human Rights deals withthe ______.

(A) Rightto Recognition asa Person before
the Law

(B) Right to Remedy by Competent
Tribunal

(C) Freedom from Arbitrary Arresl and
Exile

(D) Right w Equality before the

Where arc the headquarters of the National
Stock Exchange situated?!

{A) Chennai

(B} Delhi

(C) Mumbai

(D) Bangalore

The Union Government of India has decided
to declare 2018 as National Year of
iA) Fruits

{B) Pulses

(C) Potatoes

() Millets

The is a colourful and mesmeric fair
which is held a few days after Holi, every
year in Meerut in Uttar Pradesh.

{A) Kumbh Mela

(B) Mauchandi Mela

(C) Ganga Mela

(D) Sikri Mela
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Who discovered the antibiotic penicillin? Q37 vdarmRe Rt & am e
(A} Archimedes ef|?
(B) Alexander Fleming A} anf@imda
(Y Alexander Graham Hell If;}l E{E#EFL-IJEH it
(D) Louis Pasteur (C) Siedilas WidH &3

(D) d ¥
~ of the Constitution of India provides Q38 ST Wi _ WG TR
alist of official languages of the Republic of & anforeies w1 gl wEE Fwn
India 2l
{A) The Eleventh Schedule (A} Pl A
{B) The Fourth Schedule (B) il raget
() The Twelfih Schedule AR 7
(13} The Eighth Schedule (D) el g

General Hindi
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Numerical & Mental Ability

()76  Rashid can complete a job by himselfin 13
days while Kausik can do the same wiork
alone in 21 days. Ifthey work wgether how
many days will it take them to complele the
work?
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A shipdeveloped a leak 15 km from the shore
and vet could travel towards the shore at o
speed of 10 kmvhr for & maximum time of
18 min, A rescue vessel that was immediately
sent from the shore to rescue the passengers
would ke 6 min to complete the rescue
omce it reaches the ship, What should be the
minimum speed of the rescue vessel in order
to be able to successtully evacuate everyone
onboard the ship?

(A} 72 km'hr

(B) 70km/hr

(C) 68 km/'hr

(D) 65 km'hr

The lenpth of a side of an equilateral triangle
is 21 em. what would be the approximate

area of the circumeirele of the above trizlrngh‘:;?l

22
[Usex= = |

(A} 1545 em?

(B) 4623 cm®
{C)y 462 cm’
([) 484 cm’

Zubin and Pravin can individually complete
a job in 36 min and 60 min respectively.
Starting with Zubin, they work alternately
for & minute each till the work is completed.
only the ane working at the end allowed o
work for less than a minute in his final tum.
How long will it take the duo to complete
the job?

(A} 43min

(B) 44 mind8s

{C) ddmindis

(D) 45 min 125

077 T 9 15 fEEriET @ O W A o

078

Ly

4 9T Iog=1 8 T Ovg T A afiee
18 fime @ amfl o g8 deRad
fisaiee Jaf €2 & ol a9 T o e
ol @ Hebd] o | e § WA e ane
diTd A Bl SIS o T W AT A
&1 Far B & e ) wEr T sl
Wil Sl & eemEs FaeE @ Ry
qrd A il g T gm g alee?

(A) 72 Wil / v

(B 70 farsmier < o
(C) 68 T /ue
(D) 65 fdsefiiies 2 e

Geh T B & o o &) qEiE
dffee 81 audwn FBEm & aitga
SqWA A a EmY

obriya.in,,

[n=7'a1ma:'§|

(A} 154.f3 Fddres

B) 462 3 g
(C) 462 GeMFET

(D) 484 Ty

Afes Ay wdio e 3s e Al so
e & i o & g & we £
& & TE EY T WA G A,
Aaptouds w0 # U e fq @ w2
afg W @M HE a@ F @ e s ma
A oy fire @ oW aay dg HE EE &
sl w2 & & s g B 6
fehern s et
(A) 45 FFe

k) 44 frie 48 Biwm
(C) 44 HE 45 Uihd
(D) 45 e 12 9as




Q80  Govinda usually leaves his home every day
at 8 arm and travels at a certain speed to reach

4
office on time. One day, he travelled at 5 of

{he usual speed and hence arrived 22.5 min
late, How much time does Govinda usually
take to reach his office?

{A) 1hr 15 min

{B} 1 hr 20 min

(C) 1 hr25 min

(DY 1 hre30 min

(81  Select the option that is related to the third
term in the same way as the second term is

om0 e e wf R A e
) Fraoren & @ wHY 4T @i TR
1 Fiftem afy oy A v & UF i

ﬂﬁF'lfﬂl{ﬁﬂﬁﬂT}ﬂfﬁiﬁ%ﬁ%ﬂmEﬂ

ae & afw zzso FFe &1 &9 @ vETE
& e s w wwiEa uge #
Foler TT AR B

(A} | EET 15 e

(B) | Her 20 e

(Cy | Her 25 e
INEEEDGEE |

a1 Rie & g & o deY ve @ el
TR Gl & Fore W g U8 UEe 98

S

related to the first term. 1 wfeE #)

Saffron : Spice :: Apple : ' TR MR T e

(A) Vegctable A) Al

) P

(C) Stem (C) o1

(D) Root () w1=
082 ‘Saliva’ is to “Salivary Glands’ as*Bile” isto, Q82 W @ mied @R AR il wHR
W L, n-bnya_m S Gl 1 [ (A 1

. (A} Stomac : ) T2

(B} Liver By form

{C) Pancreas I{C} NTRIE I

(D) Lungs (D) T
Q83 ¢ *is to ‘Celsius’ as ‘Mass is to 5} — ) Tererd e ¥, faa

‘Grams', W RS o A U R

(A} Heat (a) s

(B3 Humidity (B) T

(C) Energy (C) Tl

(I3} Temperature | (D) s |

()84 In a certain code language. MUMBAL is
written as NTNABH. How will KANPUR
be written as in the same language?

(A) IBMOQTS
(B} NAKRUP
- (C) LZOOVQ
(1) LBOQVS

o84 wm UH FafEn wha-wm i, wes
MUMBAL @1 NTNABH Frann oar #,
e KANPUR &1 adll @2 & &3 foran

[ |
(A) JIBMQTS
NAKRUP
% LZOOVE

(D) LBOOVS




Q835

Q86

Q87

B8

(89

*Cake’ is related to “Oven” in the same way
a5 “lee-Cream” 15 related to

(A} Filter

(B} Mon-stick Cookwareg

(C) Refrigerator

(I Cooker

*Meghalaya® is related to *Shillong” in the
same way as ‘Magaland’ 15 related to

(A) Daman
(B) ltanagar
(C) Kohima
(D) Dispur

100" sto ‘Contury" as 10" isto®
(A) Ten

(B) Fartnight

(C) Week

() Decade

What will come next {in place of ") inljhc
given series?
D4X24E5HETZ0LY
[A) 18

(B) 26

(Cy 12

(D 7

How many ‘M's are immediately preceded
and followed by ‘N in the following series?
MNNMNNMMMNNNOOMMM
MNNMMMTTMNMNMNMN
(A) 3
(B) 3
7
(D} 4

What will come in place of the question mark
{*7") in the given series?

* 2TUI3M22V]BR?S

(A) 22
(B) 25
(C) 19
{D) 18

obriva.

wE, Wi 9 99 Jen HeEe & fae
T WEHHH, W el &
(A) freew

By AF-ftes s

(Cy Hirasy
[ ES

Q86 #Ererm, Brein | 9@ gEr ddfa & fae
T ANTAYE, s | W e
{A) =91

(B) FEFTE
(C) wifgen
D) gy

§

0 100" W WA WO 8 g9 uEN 107 W
& AR 1

% frafafm agem 4 (7) 8w W &9
it brmm anedt?

D4X24ESHET20L?

(A) 18

(B) 26

© 2]

(7

L}w/ﬁqmma sie # fbd MY 09 & R
g wEd @R gia @ § N #7
MMNMNNMMMNNNOOMMM

MNNMMMTTMH#_NMN%N 3}
1

(B) S
(C) 7
(D) 4

el a4 (7)) F WE W S
# v amg?

ZIUIIM2ZIVIER?S

(A) 22

23
{Cy 19
D) |;

Q=0

KET-ThR



If GOOD =41, then BAD =7 Q91 4f GOOD =41, @ BAD=?
(A) 6 (A) 6
(\) 12 (B) 12
(o (C¥7
{10 (D) 10
ICACTIVE = o), then PASSIVE =7 @92 afy ACTIVE = 60, o PASSIVE =7
{A) 100 {A) 100
() 80 (B) BO
€y 91 (C) 91
(1) 55 (D) 55
If in & certain code, Silk is written as o3 uf g fften waa—fal # weg 'Silk
1991211, then what will Cotlon be writien il ﬁﬂlliﬁ'?l‘ﬂm F &, @1 7 Cofton”
as in the same code? 1wt w2 8 e e amen?
(A) 31514152020 (A) 31514152020
(B) 35201201514 (B) 35201201514
() 32015152014 () 32015152014
(D) 31520201514 ~ |@» 31520200514

Jobriya:in
A clock is showing the time 1:40. If the Q94 U HEl 140 49 &1 o {2 v &) afg
minute hand points to South-West, in which frre 1 W sBm-wtEm 6 aw efm|
direction does the hour hand point? et &, 1 w2 7 gf few B @ ain
{A) Morth-East L e L
(B) South (A) FER-TH
(C) North (B) =l
{D) South-East () e

(D) &g — i

Amal and Subir were standing face to face Qus WA AN gER T & T uE el @

in the evening and chatting, Their shadows
were in front of Subir. Which direction was
Amal facing”

(A} East

(By West

(C)y North

(D) South

I R e AR e TS 9| S e
gﬁ'ﬁa’%ﬂmﬁeﬂnarﬁﬁmﬁmﬂm
WE Hed WE Y

(A) T

@) ofF=n

(C) Tt

(D) =k

i



§ Consider the given statements to be true and

decide which of the fullowing conclusions
logically follow(s) from the two given
statements, disregarding commonly known
facts.

Satements:

Some crows are pigeons.

All the pigeons are peacocks.

Conclusions:

I.  Some crows are peacocks.

Il. Mo peacock is pigeon.

(A} Only conclusion I follows.

{B) Only concluston [F follows.

(C) Neither conclusion | nor 11 follows.
(1) Bath conclusions 1 and [T follow.

Consider the given statement and the

following assumptions to be true and decide

which of the assumptions is‘are implicit in

the statement.

Statement;

Save nun-renewable sources of energy for

the next generation.

Assumplions:

1. The next generaiion will have no
rencwable sources of encrgy.,

II. If ron-renewable sources of energy get
exhausted, the next generation will not
be able 1o use them and will have to
think of alternatives.

{A) Only assumption I is implicit.

{B) Only assumption Il is implicit.

() Weither assumption | nor 11 is implicit.

(D) Both assumptions Tand [l are implicit,

Consider the given statement and the

following assumptions to be true and decide

which of the assumptions isfare implicit in

the statemenl.

Statement:

Like poles repel each other; unlike poles

gttract ench other

Assumptions:

. Magnetic objects of similar pole repel
cach ather.

Il. People of opposite nature remain more
intact.

{A) Omly assumption [ is implicit.

(B) Only assumption Il is implicit.

(C) Neither assumption | nor I1is implicit.

(D} Both assumptions [ and Il are implicit.

96

Qa7

9%

faw o perE v faw #E alw W
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i i forsr & @ W= & faw o
&Y gl T T W 6 e wear
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af_f'g[tlﬂ'& gl
il T |
(2150 .

1. Fig AR &
H & B
(A} T | i Fal &
(B) awc Faes 11 are
(C) 1 o 1 e = ) Fret 11 T

e ¥
(D) Py | o Presd 1 91 81 9T
w0 B

fry wrg wer i Frefafan aremst o
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o forg e
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I ¥ o el id 9 v

w e e R Ree &
qre | g B

(A A v 1 afafifea 2

TE Ll i TET
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|
(D) w1 alt e 12 e 8
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e
wady g3 o gEe 3 el wwe §
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1. ARy EEEMEI eh
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(A) Faa o | R 8

(B) e a1 sifRa §)

() ;r:ﬁrmlmﬂqﬂmu safifea

|
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99

Qhoa

Q101

Q02

Q103

Which of the following is NOT a composite
number?
(A) 133
(B) 433
(Cy 533
(D) 833

Select the most appropriate option 1o solve
the equation.

105+15%(38—-8+5)+3=

(A) 7

|
(B) 35

(C) 14

1

Select the most appropriate option to solve

(wiatfire wav) 781 &7
(A) 133
(B) 433

C) 533
i [y B33®

Qo0 Fr=fafeg wie & wad afim

foreme |
105+ 15=(38-B+5)+3=
(A) 7

1
(B) 35

(cy 14

1
() 105

Q101 Frafefm v @ ge P 8

the equation. waifs afaa RAee & a97 )
1.8 + 1200 = i ) .8+ 1200 =

(A) 0.15 Jobriya.in @ o.1s

{B) 0.015 (B) 0015

(C) 0.00015 {C) 0.00015

(D) 0.0015 (D) 0.0015

Select the most appropriate option to solve

.3
the equation. !'}55
1
3._...
(A} E
®) 7=
3
o) 34
(C) 35
|
(D) 23

3

What is the HCF of 54, 162 and 1897
(A) 27
(B) 9
(C} 3
(o) 1

Qio2 frafafm wimwe @ w0 P @

ﬂﬁﬂﬁﬁfﬂﬂﬁﬂ@ﬁﬂﬂﬂﬂﬁl%

1
(A} 33

1
(B) 75

© 33

!
(o 23

Q103 54, 162 Ud 189 W HEwH WAGEEH?

i) T B
(B) @
(c) 3
(M1

£

Qoo Frfefem | 99 A fowen wre w006 O
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w004

CHO5

106

0107

(2108

Qlim

What is the LCM of 64, 128 and 1607
(A) 320
{B) 384
() 512
() 640

If 84 is divided in the ratio 3 : 9, what is the
greater of the two parts? :
{A) 34
(B} 63
() 57
(D) 48

Ifx: 166330, thenx =
iAY 20
(By 24
() 28
(D) 30

Rishi secured 66 marks in a test out of 73,
What was the percentage of marks obtained
by Reishi?
iA) 84
iB) 88
(Cy 373
([ %0

Irene suffiered a loss of 1 2% by selling amask
for T 308 A1 what selling price would she
have made a profit of 10%:7

(A} T 396

(B) ¥ 363

(C) 2374

() T 385

Adter a discount of 15% on the marked price
of 0 set of pens, it still cost the buyer T 1,751,
What was the marked price of the set of
pens?

tA) T 2,025

{B) T 2,000

{C} ¥ 2.060

(D) T 198

Q104 64, 128 TF 160 T FYH THIEE (TR
& #7
(A) 320
(3 384
C) 512

- Q105 ufs pa ®1 5 ¢ @ A § Pl
e & ot SR AT # A A

v,

(A) 34

(B) 63

(C) 57

(D) 48

QI06 T% x: 16 - B3 0 36, 7Ty =
(A) 20
By 24
{CY 28

[

Q107 i = R e & e 75 3! A 66 A
Wmliﬁmmﬁﬂﬁmm

Johnyalﬁﬂm

(C) 87.5
(D) 90

Ql08 == A W = R 2308 A W Frwd
wH 12% 1w gd ) s A A
F09. T TH 10% 1 @0 W Bl

(A) T 396
(B) ¥ 363
(C) T304
(D) ¥ 385

QI09 ®En & U % i g ue 15% O 6
oim & T M @diger o T 1,750 @
dra g ol dem @ e W A
Held o’
(A) T2025
(B) 2,000
L) 2060 |
(D) 1,989

SET-76




onla

Qi

oQh12

Q113

2 1,800, invested for 5 years at 8% simple Q110 8% wfy ol & wrawo = ae s mf &
interest per annum, will eam an interest of IO ® P S WY 1d
S, a0 |
(A) 720 (A} 720
(B) 750 (B} 750
(C) 630 (C) 630
(DY 675 (D) 675
What would be the interest accrued in two QL 10% o Tiffs awgly @ W 2 @6 =
years on T 300 if the sum is invested at 10% fan 7300 F Fdm 9@ e & o
interest compounded annually? aurd @ TfE @ A g gR?
(A) T 60.50 (A) T 6050
(B) Tal {By T o0
(©) T 61,50 (€) T61.50
(D) T63
Suhas and Nitin invested some money in a QUi HEw afie Bt 4 8 3 % arqume i FRER
husiness in the ratio 8 © 3, but Suhas withdrew % Fiffee @i & Wil @ Faw B, g
his money after a few months. If the end-of- e L aﬁ;_ﬁﬂﬂ A et B A
A A form ) 12 W @ wEmE O HEE AR
twelve-months’ profit was shared hetween P e @ 4w U T 0
Suhas and :r:r;:::m Trin .5: -I,l:cur how 6 : 4 ¥ 7T P BT A P w0l o
many months did MNidin alone myvest : B 3
3 Jobriya.if ™ o "

A) g (A) 53
(B) '51 3

g @) 63

3
© 3 © 55
(D) 62 5

g (D) 6
The average marks obtained by 5 students is Q113 s Pt g ams @0 e 56 81

55. The average score of the top three
performers out of these five is 65, What is
the average score of the other two?!

(A) 50

“(B) 45

(C) 40
(D) 35

w5 fgqmidid & & d o R
a1 Al i 65 &) ey <) RgmiE @
dr o n BY

{(A) 50

(B) 45

(C) 40

(D) 35

[al et SR



- Mental Aptitude, 1Q) & Reasoning Ability

(2114  Select the option that is related to the third
term in the same way as the second term is
related 1o the first term.

B2:6d 0217
(A1 81

(B) 90

(C) 49

(D) 100

0115 I MATTER' can be coded as *AMTTRE",
\ then how would you code *LENGTH'?
{A)] HIGMEL
{B) ELGNHT
(C) ELNGHT
(D} ENLGHT

(316 IfF METHOD' can be coded as "EMHTDWLY,
then how would vou code *PRACTICE™

Q114 39 RAFe & 99 &4 9 9 98 9 930
WE A wata # firw ave @ gEe ue uEd
05 ¥ e &
B2 63927
(A) Bl
(B} 20
(C) 49
(T 100

QL ol wie e # ‘“MATTER® ®1 ' AMTTRE
# wy  faer @ wam § ar A
‘LENGTH® ot fiss s Tondi)?

A) HTGNEL

{B) ELGNHT

(C) ELNGHT

(D) ENLGHT

L,tﬂllvﬁ‘ig; iz wmr & METHOD' @

EMHTDO & w9 ¥ foran o g &, &

{A) RPACITCE Jc}briya. i 1 ™ ‘PRACTICE' b umm feed?
(B} RPCAITEC {(A) RPACITCE
(C) RPCATIEC (B) RPCAITEC
(D) RPCATICE (C) RPCATIEC

QU Inacode language if MANGO is written as
OGNAM, then what will be the code for
APPLE?

(A} APLPE
(B) APPEL
(C) ELPAP
(D} ELPPA

QII8 If *CHANTING® can be coded as
‘HCNAITGN, then how would you code
'PINCHING™?

(A) IPNCHIGN
(B} IPCNIHGN
{C) IPCNHIGN
{D) GNIHCNIP

(D) RPCATICE

0117 afz @ wmr § MANGO & OGRAM &
w0 # for@n wen & a1 APPLE &
wehTe foran wrgen?

(A) APLPE
(B) APPEL

[ : % ELPPA

QI8 afz e i F CHANTING' &t
HONAITGN® & w9 & foran o wdan &

o, a9 CPINCHING' 37 $9 faa?
A) IPNCHIGN
IPCNIHGN
{C) IPCNHIGN
(D} GNIHCNIP




Q119

Q120

2]

QIz2

Speaking to Kamala, Rajesh said “My mather
is the only daughter of your father™. How is
Kamala related to Rajesh?

{A) Mather

{(B) Aum

(C) Wike

(D) Daughter

M is the sister of N, R is the niece of M and
T is the mother of B. How is W related 10 T7
(A Brother

{B) Daughter

(C) Husband

(D) Mephew

Maya is Gopal's wife. Preethi’s hushand,
Maresh has a sister, Jaya and a brother, Gopal.
How is Naresh related to Maya?
{A) Father-in-law

{B) Son

(C) Son-in-law

(D} Brother-in-law

Which of the following numbers in the Venn
diggram shows the soft cotton shirt?

. ) HeT
Jobrlya.uﬁg m:
(O

Q119 =HeA] | T T GY O A wE W A
amrd far @ gwelrd 44 87 S @

el R wHEy 87

(B) 3

@ =i
(D) w

0120 M, N o 757 & R.M'ﬂﬂfﬂriﬁ%l S mn{',n
ot &) N T E o §?
(A) WE

L] LB
*m

(D) wftly,

Q121 s, Tirre 28 el &1 i @ ufy A
w4 oy s W AR
"R H A Hay

(A) WY

Q122w o s # T Peaffim e
e I w8

O sett—
& [ RTE TS
[ coftom,__
3 Snin

(A) B

(C) 9
{0y 7



2123 Find the suiteble option for the given Venn
diagram,

" (A) Family, husband, wife
(B} Peacocks, crow, cocks
(C) Cows, figures, lions
(D) Cats, dogs, frogs

124 What does the number 3 in the Venn diagram
below describe?

{A) A cake which is not soft
{B) A soft cake which is made of chocolate
() A soft cake which s not made of

chocolate
() A soft chocolate

Q125 Which of the following numbers in the Venn
diagram represents a warm and rainy day?

I 2
Pk 1 I

co:

Chill
Foggy
Ramy Day
Warm

[loco

(A) 6 (B) 7
(C) 5 (D) 4

Jobriya.in

Q123 TR 49 sy # augen Resy @ wge
|

|#)srar, oo, v

(B) #w, =, 7
{C) ", firF, IR
(D) ffeawi, &=, J=

Q124 Pr=fafem &9 ams = =< : T=%

feor w &7

Ta W

[ :'14.-,|| ) &=
>< Y e
7 f

(A) &5 o 0 8 &

(B) Hiswdle | g9 181 AR EH

(C) 8 @@ T G F Tl I T
4

(D) TF A% HiFe

Q125 gy 47 s A Py=tafam 4 @@= 6@
wagr uE e At wywrdl (B oW
wiafiiea swd &7

N

(=]
L¥}
.




Q126 Which of the following options best suit the
Venn diagram given in the figure?

00O
O

(A) English, Tamil, Hindi
(B} Women, mothers, doctors
(C) Passenger, bus, train
{03} Pollution, air, water

Q127 Select the odd one out among the following:
(A) 9876
(B) 8763
(C) 5432
(D) 7653

(128 Which word does NOT belong with the

0126 mgﬂfﬂaﬁﬁﬁrﬁﬁaﬁﬁﬂ:ﬁﬁmﬁaﬂ
& qrr i we s SugE 82

OO

()

I“-.._.ﬂ} [.TI"‘."A"
[ o e, ]
(B) \fEE,

() ard, 7w, Yo
() S5, &2, T

Q27 Prefaflaa & § Had s B TEEF
& |
{A) 987
(B) 8765

C) 3431
l{ D) 7453

Q128 Frafafae 8 @ 29w 7 L e b

others? - o v #7
(A) Square Jobriya.ina) =
(B) Pentagon (B) =S
(C) Hexagon (C) ¥
(D) Angle (D) I
129 Which word does NOT belong with the Ql2e Freafi & 9 A W s H IR
others? 8 wa 87
(A) Sitting A) HEAI
® coing
(C) Standing {C) =& 671
(D) Sleeping (D) HF
0130 Which aiphabet i NOT similar to the others? Q130 et # § #F @ g 9 fget B7
(A) A (A) A
(B) U By U
C) D |{C} [
(D) O (D) &
131 Which word does NOT belong with the Q131 Frefaim & @ @6 W e i [ W
others? wE T 87
(A) Earrings (A)
{B) Bracelet (B)
(C) Bangles % m_j
(D} Spectacles D) =]

F



Q132

Q133

Q134

Q135

A_4R

Which word does NOT belong with the
others?

{4) Edges

(B) Skdes

(C) Faces

(D) Vertices

32 Feifeies % 4 @9 o me 9y @ aaa

81 vy #7

A) B
Em Ty

(C) Hew

)

@ﬁi

Choose the correct mirror image of the Q133 Twr fFm 4 4 wffw & ogem = e
object given from the choices, when the el =gor 1 fAY g frg & W AB TR
mirror is held at A B: T A

A A

B B
Answer figure a o=

pbriya.in
A B c ) A B T )
(A) A iB) B A) A (B) B
(C) C Dy I (C) C (D
Identify the odd pair: Q134 Frerfafea we gt & % s g &
(A) Hushand-Wife e,
(B) Father-Daughter (A) gR—ueh
(C) Uncle-Niece I:.ELL%
(D) Mother-Son o )
(D) -

Censider the four members of this set: QI35 =i & wiF & =W Wawl W aE &

Coconut, Groundnet, Mustard, Corn
Which of the choices below can be a part of
the above sel?

(A) Ceshew nut

{B) Cocoa

(C) Olive

{0} Abmond

Aiftaa, JrEeh, AvHE, Wey
fegm el A4 o9 o & g @
I[EY B W 7

{A) T

(B) &

(C) e

(L) S0

[l nl o



Q136 Which of the following options has the
correct water image of the picture given

betow?

@ @

Q136 fa e e fawedi § @ ¥ A Ry e
Ry & Sie-umieeR B wE 8

“Jobriya.in

Q137 Select a suitable figure from the answer
figures that would replace the guestion mark,

Tl | w|?

E

Sl i

A X ‘
SE
VE
(B) 3
e
FO
(€} | UR
TE
(13)] N

Q137 "7 3 A A A

W1 T T
ON TH Fi \ 2
E RE VE .
E
sl £
w| \25
- BE
VE
B
Qi
FO
)] ur
TE
Gy N

SET-Th



013y

Q2139

A-AS

Select a suitable figure from the Answer
Figures that would replace the guestion

Jobriya.in

Q139 e F wwem Ra—de ¥ wm o fas
mE # EfE § ) oo fas-de 9wy
fom =1 wam ¥ ot i G # dee
e & e odll wom @ wele 2 B
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The first two figures in the given Problem
Set bear a relationship. Select that figure
from the Answer Set which bears the same
relationship to the third figure in the Problem
Set as the second one bears to the first in
the Problem Set.

Problem Set:
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Select a suitabie figure from the Answer
Figures that would replace the question
mark.

(C) ‘

(D)

The first two figures in the Problem Figure
hear a relationship, Select the figure from
the Answer Figure which bears the same
relationship to the third Problem Figure as
the second bears o the first Problem Figure.
Problem Figure:
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Answer Figure:
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(A) Figure A By Figurc B
{C) Figure( (D) Figure D
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Read the statements and identify the logically
correct conclusion from the given
information.

Statements;

“The beginning of heath is sleep™ - written
on & hospital wall

Conclusion:

Iy Ifone sleeps, all his diseases get cured.
1) Sleep is the medicing for all the diseases.
(A) Only conclusion | follows

(B} Oaly conclusion [ follows

{C) Either conclusion | or Il follows

(0 Meither conelusion | nor 11 fallows

Consider the statements to be true even il

they seem to be at variance from cnmmmj
krown facts. Decide which of the given
conclisions logically follows from the two
given statements, disregarding commonly
known facts.

Statements:

Some crows are lions.

All Tions are panthers,

Conclusions:

1. Some crows are panthers.

2. Nolionisacrow,

(A} Only conclusron | follows

{B) Only conclusion Il follows

{C) Meither conclusion I nor 11 follows

(DY) Both, cenclusions | and 11 follow
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Consider the statements to be true even if
they scem 1o be ot variance from commeon |y
known facts. Decide which of the given
conclusions logically follows from the
statcmenis.

Statements:

137 Most teachers are beys.

2} Some boys are students,

Conglusions:

1y Some students are boys.

11} Some teachers are students,

(A} Only conclusion 1 follows

(B) Only conclusion 11 follows

{Cy Both, conclusions 1 and 11 follow

(1)) Weither conclusions | nor 11 fellows
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Select the option that is related to the fw-.!‘bbl'lg,ﬁ Fﬁﬁiﬁﬂ 1 T e T A W A

term in the same way as the first term 15
related to the second tenm.

750 ;7101

{A) 5

(B} 10

{Cy 11

(I 38

Select the option that is related 1o the third
ferm in the same way as the second term is
related to the first leem.

258 ; 80 ;1 3697

{A) 162

(B) 18

{C) 90

(D 34
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(A) 162

(B) 18
(c) 90
(D) 54

SET-Th



/

47 What will come in place of the blank = =< Q137 Fr=fafom w3 fam w3 gff oy
series’ lc_%_;g. 63, . 143,
3, 15,35, 63, 143, (A} BO
(A) 89 (B) T8
(B} 78 (C) 99
(C) 99 (D 121
(D) 121
|48 Find the next letter in the serics: 0148 Fsforfan &0 9 570 de & g9
%I:I‘Il E, .H.. llI-'. I.._
(A) OQ (4 Q
(B) R (B) R
(C) 8 {C) 8
(D A () A
149 Identify the number that fallows the series: Qae FrafafEg =w 9 el dm ) usa
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(B) 28 TARL
(C) 27 ) (B) 28
(D) 29 ) 27
(D) 29

150 Insert the correct option in the blank below: Q150 Feafafa faa w4 a5 faws ofe

ALESKIN,___ ,C29 i
(A} 517 ALESKIL .29
(B) $19 : (A) S17
(C) M13
(D1 MIT {C) M13
| (D) MI7
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